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CEHAYECUSHSH(US/ISDS)
SIS EEHSHIN(I=SHHSRHYSLES A ) (&te: @2
N33 . c2(3H) - NEME - HES 0f] AboH J)[| el Hon=s2t
2! CH &t 8,281,000 7,409,000 872,000
= 40,500 0 40,500
< 8,240,500 7,409,000 831,500
ZHMAY=C S RH(NR/DSEUR) 4,159,268 3,197,268 962,000
= 40,500 0 40,500
[= 4,118,768 3,197,268 921,500
MO EES SN (T2 HS2ASHIH) 605,000 305,000 300,000
SHOI0IKI LS EQEIEEES 535,000 235,000 300,000
201 LBt Y 335,000 235,000 100,000
01 At222lH| 285,000 185,000 100,000
O Et==2H| 285,000 185,000 100,000
OdUMBRTVLZIC| 22D
AA 142,000,000 142,000 42,000 100,000
306 = 200,000 0 200,000
01 £2¢3 200,000 0 200,000
OMSHoAEC e UNMI 2L NE2 200,000 0 200,000
BB SY(ZETHUE2YEHH) 2,736,362 2,215,362 521,000
OFR MOIBHAI2 A 603,200 663,200 260,000
201 LBt Y] 537,200 597,200 260,000
01 AL 22lH 533,200 593,200 260,000
O2g94¢ 381,600 441,600 260,000
ONALQNAAIZAIR 381,600 441,600 260,000
- ZUUAIZIAAIR 2% 381,600,000 381,600 441,600 260,000
A SHALA X 440,621 429,621 11,000
306 == 18,000 7,000 11,000
01 502 18,000 7,000 11,000
ORVN22ESALUHSENE2(NSHSI|=L8)
23 18,000,0008 18,000 7,000 11,000
ANE2sXzel 557,860 557,860 0
201 LBt YH] 267,776 207,776 40,000
02 2229 245,000 205,000 40,000
CJAl A & HI S X HI 170,000 130,000 40,000
OAHSYAILEHISXIH 170,000 130,000 40,000
-HESX 2L (25MHS)
2% 130,000,000 130,000 90,000 40,000
307 2I2t0| A 257,954 297,954 240,000
05 DIZteler= 257,954 297,954 240,000
O8AYZHEA 22X 218,000,000 218,000 250,000 A32,000
O2+H35 X & 23 7,800,000 7,800 10,800 A3,000
OXGIEALH RAE 23 800,000 800 4,800 24,000

_1_




S A 24 CH 8t

I WA= SL(1S/ISDS)

Cel: RESlised (FE RS 2ASEE ) chelae
- HA(A) - MBAE - BES &HeR JE A HusZ
BEPREEEEE: 23 16,714,008 16,714 17,714 A1,000

arstgzice o X @ 670,000 100,000 570,000

306 213 670,000 100,000 570,000

01 212 670,000 100,000 570,000

O I NAANLHSENE (DS US| ER) 200,000 0 200,000

DRSALLSANLHSENH (RRUEI|S2) 370,000 0 370,000

SESHOALRYNSHAIL (=Y 2HSY 817,906 676,906 141,000
3

2 40,500 0 40,500

= 777,406 676,906 100,500

BUSEHIXE 200,000 140,000 60,000

405 XH&HH S| 130,000 70,000 60,000

01 Xtard 223 S| 130,000 70,000 60,000

DasasaINHTY 2T 130,000,008 130,000 70,000 60,000

DIEXZ AZAEIE TLXS NS AY 81,000 0 81,000

2 40,500 0 40,500

= 40,500 0 40,500

405 XH&HH S| 81,000 0 81,000

2 40,500 0 40,500

= 40,500 0 40,500

01 Xtard 223 S| 81,000 0 81,000

ORI SN HBZ AL T PY 81,000 0 81,000

OEZE{ 2|25 81,000 0 81,000

=2 40,500 0 40,500

= 40,500 0 40,500

HHSAZH(FSTEHS )OIEHIIE) 121,732 4,211,732 90,000

olzie ot (Y Y s SYs ) 596,376 3,736,376 A 140,000

olzi2 oyl 596,376 3,736,376 A140,000

101 Q124H| 876,243 3,016,243 £140,000

01 J1=22 850,875 1,979,007 A 128,132

BEE 703,071 1,826,775 £123,704

Ogut 398,012 521,716 £123,704

-72(1752) 23 16,675,002 16,675 140,379 £123,704

ERIVE 147,804 152,232 14,428

oz2+y 24 147,804,000 147,804 152,232 14,428

JHHXI 2 bl 282,730 304,463 £21,733

mBINEEE:] 2H 282,730,0002! 282,730 304,463 £21,733

e10H 2 At 37,038 27,173 9,865

m[EEE 23 37,038,008 37,038 27,173 9,865

EEFICEEHIVEEEEEEP) 525,356 475,356 50,000

1= 525,356 475,356 50,000
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